CBSE Class 12 Biology Compartment Question Paper 2020 (September 22, Set 1- 57/C/1)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises five sections —A, B, C, D and E.

(11)  There are 27 questions in the question paper. All questions are compulsory.

(111) Section A — Question nos. 1 to 5 are multiple choice questions, carrying
1 mark each.

(iv) Section B — Question nos. 6 to 12 are short-answer questions type-I,
carrying 2 marks each.

(V) Section C — Question nos. 13 to 21 are short-answer questions type-11,
carrying 3 marks each.

(vi) Section D — Question nos. 22 to 24 are short-answer questions type-I111,
carrying 3 marks each.

(vit) Section E — Question nos. 25 to 27 are long-answer questions, carrying
5 marks each.

(viit) Answers should be brief and to the point.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in two questions of 1 mark, one question of
2 marks, two questions of 3 marks and three questions of 5 marks. Only
one of the choices in such questions have to be attempted.

(x) The diagrams drawn should be neat, proportionate and properly labelled,
wherever necessary.

(x1) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. In the illustration given below of a sitmplified food web on an i1sland, the
arrows indicate the direction of energy flow and the Roman numbers
indicate species within the food web.
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Teis VIII fopd 9t TaT 312061 U 9 k1 il & 2 1
(A)  Tgdtres e qetes STRR
(B)  ITfHeh IUNIH

(C)  3cHIgh
(D) ¥k QAT =Y ITHITHI

2. S qUT TAAT YHE0 H IPHUSHI AT5¢ISH oh FEReRor gy gl (9ar) <
Y L ATl BS AIASFT & 1
(A)  TESIGTH AU TICIdT

(B)  UTIEIERTH qAl TTIHd

(C)  TFrefiar qeM Tl

(D) OFIYIsRag ddl U9igidae]

HAAT

TagY (FaEq—) dHd ol (ferggett) w6 ffeshar gfawen gem s 8 i
390 T4 iiefl 8idm 2 1
(A) IgA

(B) IgM

(C) - IgE

(D) " IgG

3. nﬂaﬁﬁﬁﬁﬁmaﬂﬁﬁQW% 1

(A) SFSIgeH
(B) TS

(C)  gfewht (TEget)
(D) QiR SEATHh HILEAA

AT
Q&S| § UGl &AM o YoYUl Ud GaU] Sl (HIHT i dTcd BIHMH I A1 @ 1
(A) SI.TE. (GH)

(B) U%.uH.T<. (FSH)

(C) TA.TH. (LH)

(D) UlcATded

4.  SI-NER! =T H 3TN <hl I dredl 3Tfuaes Sl @ 1
(A) IGHS

(B) Uldegd TATEH

(C) HdTE®

(D) T et
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At which trophic level or levels does the species VIII function ? 1

(A) 2nd gnd 34 consumer

(B) 15! consumer

(C) Producer
(D) 3rd gnd 4th consumer

2. Some cyanobacteria in aquatic and terrestrial environment that enrich
the soil by fixing atmospheric nitrogen are 1

(A)  Rhizobium and Azotobacter
(B)  Azospirillum and Glomus

(C) Anabaena and Nostoc

(D)  Azospirillum and Azotobacter

OR
Colostrum provides passive immunity to human infants as it contains
antibody 1
(A) IgA
(B) IgM
(C) g
(D) " IgG
3. The specific site for fertilisation in human female is 1
(A) Infundibulum
(B)  Uterus

(C) Ampulla
(D) Ampullary isthmic junction

OR
The hormone that regulates the synthesis and secretion of androgens in
human males is 1
(A) GH
(B) FSH
(C) LH
(D)  Prolactin
4, In biotechnology experiments, ‘molecular scissors’ used are 1

(A) Plasmid

(B)  Restriction enzymes
(C)  Vectors

(D)  Sigma factor
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5.  ‘Shlg S Sl ShIeATh TaW h1 HhIUl hid &, d SHH UMY BId 2 : 1

(A)  HUTH TIcTeh HiH
B) HFHpH (fmereH)
(C) TRl BTh
(D) i gRAIeIEd
QUg @
6. S Jd IWd (SHMIA) H R JAN L ST & Ael(eh Ho A UTSHMShIAr d
Il AT @ 239 TR o Siidl H d Jceh 1 Teh-Ueh 3GTEWT GITT | 2

7. USA A Ui"l 4 YUl JHTAar hl WA shi SIREAT &l shl | 31Ul THTiordT
I It T80 1 Teh 3180 ST |

Ted @ 39 99 o1 9 fer@sht 39T 3gW@ hIfWT RiHeh! JATHA 98 9 hid
& Sl 3TYUl YHTierdT 3IHSE hid @ | 2

AT

3ATeh IEATYeh o ATIeh! HeL 1 Ueh ARl TIeT e qum 379ehl I8 ATd v

foTu &gl Toh I8 TOgms YAl foyagms ot qiar g | U 7T 36 4ig &1
ST &Y ST his-8d 319 1 U il ? 2

8. CIL.UA.U. Togehl shl Yddl SWId §Y Ueh I FhIs hl Ueh H&YTcHh NG
SATY AU 3Hh heci@d o9, SFld o9 dYl e (HHTUSh) hi ATHTIchd
hITIT | 2

9. P U o TN S1a (TAMV]) TS o HIed d A INK T Afase Bl 34
it ST Sd 2 |

9 YhT b Tsh
1) YIS AT W 1 A1 TAEHt WThReh g 1 ST 911 fARgu |

(i) Wk BAMY (HMW) WT k1 9 foi@eRl WhReR Sfid 1 AT M
fatET | 2

10. SfRT @ g 2 qodt Uredi o hiAd TRl § $Eeh! HEdT (W) 1 3g@ hite | 2
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o. ‘Cry genes’ that code for insecticidal toxins are present in 1
(A)  Cotton bollworms
(B) Nematodes

(C) Corn borer

(D)  Bacillus thuringiensis

SECTION B
6. Why do some organisms enter into diapause while some others into
aestivation ? Give one example each of such organisms. 2
i & Mendel did not explain the expression of incomplete dominance in plants.

Give an example of flower exhibiting incomplete dominance.

Name and state the Law of Mendel the genes which exhibit incomplete
dominance follow. 2

OR

Your teacher gave you a tall pea plant and asked you to find whether the
plant 1s hoemozygous tall or heterozygous tall. How will you proceed to

find the genotype of the given plant ? 2
8. Draw a schematic diagram of a transcription unit with the polarity of the

DNA strands and label coding strand, template strand and terminator. 2
9. Causative organisms of some diseases gain entry into human body

through mosquito bites and make humans suffer from the disease.

Name one such :

(1) protozoan disease along with the scientific name of the causative
organism.

(11) helminthes disease along with the scientific name of the causative
organism. 2

10. What 1s ‘bagging’ ? State i1ts importance in artificial hybridization of
flowering plants. 2
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11. (a) dTigd oSl o fgdi¥geh IR H U8 9T 39U-d «1.37N.El. (BOD) &
T H 3T Rl Iocld shilIu |

(b) dTEd A o Tgdieh SYAR o GRF Hivieh (FeATad ) ohl Hewd TOTRIU | 2
12. re.UA.U, Jrenfiehl S 4 €1.uH.U. 9 3l 3TR-I (EcoRI) Al Tsham sl =ame
hITTT | 2

QuE T

13. il Wl i el hHM BHAT i Bl TgaH Tl Hgehl hl ARA 6 iU

STHEEehT BT-eheh TN 1 TATT 41 81 hdl ? 9 R0 qd §Y HIH h
SIS <hITIT | 3

14, HMEd I o o foia 9rm w1 A fol@eht 8= TshH | 3kl AgHTRTdT
(vfwrepr) fetfae | 3

15. $o fddigd qiadl (i) i Tafchcder 38, d1.T%h. (IVF) i &@ciig &1 <d
3 ? ‘8. d1.U%.” YishAT H SAUATY S STel =N shl SAREAT hITIT, | 3

16. S1.UA.U. Yldehiddd = A Uldeplaad fgema’ § g arelt gigeist shi e
IV | 3

3rqET

Tch G IHehrgehl IR H U0 IH dTel To(Hd JhR o AR AU, JiSl

AT TIRIUA. G | 3l YHAI3T 1 IJeai@ Hi HIT | 3
17. $aDhe BIH aFl SA1C (FATUq fhu) JATd & ? pape BIH Yaaq § fehd-Toh HeIeehl

1 & TGHT T80 ? 3
18. 3 dehrleh T UM hITSIT ToTEehT YA MY 1 TF foqd 3TN0 7 9 YA

W (S g °) AT ST Id hid o [ Il T @ fhaT I s | 3

19. URSE! Sq &1 & ? ekl GLe Wi Td @ GeE q{i&ur gq I IuAN

forg TR femam STTaT 8 2 = hifs | 3
20. Tcdh o Ueh-Ush HH{EC IGIEWT hl HEMRTT © SEIHIEAl Tal 3Teh S+l IR

o ey faye hifvu | 3

SOE

AN qAT Bleed g I&Tad ehedl ol 3Icai@ (dUM) hifelt | TH.TA.

oo 3 58 TTTeRss &9 9 fopd e fag Tonan 2 =amea Shifsie 3
21. T H I TYMHeh AT AT o 919 fiRgu | Ifcrerr JgH & § 3eh Johm|

hl ST hIfST | 3
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11. (a) Mention the difference in the level of BOD before and after the
secondary treatment of sewage water.

(b)  Write the importance of ‘flocs’ during the secondary treatment of
sewage. 2

12. Explain the action of EcoRI on DNA in rDNA technology experiment. 2

SECTION C

13. Why does an organic farmer intentionally not use toxic chemicals to kill
the pests which damage his crops ? Explain giving three reasons. 3

14. Name the three different parts of a human sperm and write their
involvement in the process of fertilisation. 3

15. Why do doctors suggest some married couples to go for ‘IVE’ ? Explain the
steps carried out 1n the process of ‘IVFE". 3

16. Explain the events occurring in a ‘Replicating Fork™ during replication of
DNA. 3

OR

Name the different types of RNA polymerases in a eukaryotic cell. Write
their roles in transcription. 3

17. Why are poultry farms set up ? Write the different components to be kept
in mind 1n poultry farm management. 3

18. Describe the technique that i1s very etfectively used to get a large amount
of desired DNA for research and detailed investigation. o

19. What are transgenic animals 7 How are they being used for vaccine
safety and chemical safety testing ? Explain. 3

20. Daifferentiate between plelotropy and polygenic inheritance by taking one

example of each. 3
OR

State Oparin and Haldane hypothesis. How did S.L. Miller

experimentally prove 1t ? Explain. 3

21. Name the two primary lymphoid organs in humans. Explain their

functions 1in providing immunity. 3
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dus Y

22. 99 I91 U 1&d @ | 89R <91 H fOa &3 e3rehl U STl <kl HAfSE 1 ThR gedl
ST @1 AT | 39 g TIRiTS o HL&0l o T & 1973 § §Te S=13 Qi

1 I TohIT TR | I8 Teh WG 3 2 Toh 3Hh hold®d IS & ghl 1
TR <N T 9rEl Shi TEA/AAtse H shiteh dfg B &I R |

(a)  STHl hl THME H BTE o oIl ITLGRIT Teh IIE HRIT hl Icci@ hiTd |
(b)  Sia-fafagdr TeAehdiatl grI fohU 7T Tsh YgE@ JIE i OTRIT STeeh

SR ST shl &I/FHE H gig H Ggrdl Hedl |
(¢) TordEl 99 &3 0 &9l <hl AT <hl TTUET AT ohE JhR 94 8 91dT @ ?
Joai@ hITT | 1+1+1=3

23. WG, OUH 4 SI@f%eT AeaEreey W T | hua Seh I T 9
SH (yt/y) @91 AME = T a1 SiH (wt/w) "iFfdd 2| 5™ o F, 9igl deh o

STAEYTcH Jagl sl ST hIfoTT derm S T o I AT -
hid A

. of
W T
. 3ad 9 J&Y

y W y W
1 CHE B @ ﬁ
vyt wt
I g&Y it vad
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SECTION D

22. Tigers inhabit forests. Over the past many decades the tiger population
was on the decline in our country. A project ‘Save Tiger’ was launched in
1973 to conserve this precious species. It 1s heartening to see 1n the last
couple of decades that there has been a gradual increase in the tiger
population in our country.

Answer the questions :

(a) Mention one major cause responsible for the decline i1n tiger
population.

(b) Write one main effort of the biodiversity conservationists that
must have helped in the increase in tiger population.

(c) State how 1t 1s possible to count the number of tigers in a forest
area. I1+1+1=3

23. T.H. Morgan carried out a cross on Drosophila Melanogaster, involving
genes for body colour (y*/y) and genes for eye colour (w*/w). Study the
schematic representation of the cross upto F; generation and answer the
questions that follow :

Cross A
Vv W y+ w
Parental - . @I CHl . @
- N @D ﬁ
Y W
Yellow, white Wild type
y w y w
F, generation ™= o= e o
- N @D, —
y+ wt
Wild type Yellow, white
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(a) I8 INTH YR 1 shid YSRId hid &, 39T 91 [ARIU |

(b) 3@ o T b T¥ H YYTET GRIUEY (BIHIEREY) i UgaH L iy |
(c)  TWIT TC TUEH T HATEd g ST hl AT gl Sl B 7 3

24, Tofyer Tiefis o faf¥rs YohR o g ashl =l = QU TC A% | SR AT 3 |

A dN _

rN

dt

HATS 99cd (N)

Y (t) >
SHhT ITEYIH L Ta9d I o IaL SIflU
(a) UTH H Jlg sk ‘a’h YR hl A foliay | 1

(b)  Jfg Ik b I ATAEEH dsh T hal AT 3 ? FHHI Th R0 fARaq | ]
o dN _K_N_ A )
(¢)  CISIEesh dsh < 91Y feu U g rN q K’ 9

dt - K
H&lud a8 ? 1
TUE &
25. oioh JdTcish o [A1Ye HeCehl shl Hel SASY | Jd JYdTcieh Gall a€dT (open
state)’ ® & a1 39 feulfd 4 34 Fereshl i YiHeht Sl =aren HifvT | 5
GG
O S IR (St ) (HGP) @ Uid Agwaqul d&dt ol [iigu | 5
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(a) Name the kind of cross i1t represents.

(b)  Identity and write the dominant phenotype with respect to eye

colour.

(c) What are these genes located on the chromosome shown reterred to

as ? 3
24. Study the graph given below showing the different types of growth curves
of different species.
A
"dN
=rN
dt
2
>
<+
87
-
b
L
-
o2
4
>
=
®F
O
¥
Time (t) >
Answer the questions :
(a) Name the type of growth curve ‘a’ shown in the graph. 1
(b)  State one reason why the growth curve ‘b’ is said to be logistic. 1
(c) What 1s ‘K’ representing in the equation (illf =rN KI_{N given
along the logistic curve. 1
SECTION E
25. Last the different components of a Lac Operon. Explain the role of these
components, when the operon 1s 1n an ‘open state’. 5
OR
Write the five important goals of Human Genome Project (HGP). 5]
-
.57/B/1 5‘1‘55 13 _P.T.O.
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26.

27.

(a)

(b)

(a)

(b)

(a)

(b)
(c)

(a)
(b)

gHa T ° Wk fufed oS o &Reh-3él (SArelEe) a9+
qRay ! Tafis TaEA13l 1 9uE hifa |

HIeh-Jel (sATEeIfEee) b faiye 9Tl o W foifge qen a7 i feiige 6
TYTEAT Y B doh STohT 91 HiasT grdr & | 5

YA

Teh MFdsls H Yhal < 39 faferse 9rm &1 fofgy St T JHehigivg
(Aficierse) & faem o fau SrerR 2 | 3@t v off fafaw |

Tsh TIdsils (USAETH) & Teh Ui X JHhIGHG (3-3hITIERIA) <Al
ATTieRd o SHT3T | Yedeh AMThd W o b i failgu | 5

Teh YTEEIA Tias 1 39 °4131 fifue s918e | 9rR 1 39 191 RiEg
oy e goer Tt 2 2

AR H Y1fHeh 3IcqTesh aoT NAHS IUHHT o 10 [(RgU |

TSl A 1 8 2 5
AT

UV &1 8 ? Ul 84 doh o (9= =07 [RaT |

e Gl A= O ¥ fohe IR fie R 2 5
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26. (a)

(b)

(a)

(b)

27. (a)

(b)
(c)

(a)

(b)

Describe the different stages of development a fertilised ovum in a
human female undergoes up to the blastocyst stage.

Name the parts of a blastocyst and write the fate of these parts till
the onset of pregnancy.

OR

Name the specific part in the anther and the process responsible
for the development of a male gametophyte in an angiosperm.

Draw a labelled diagram of a mature male gametophyte (3-celled)
of an angiosperm. Write the functions of each labelled part.

Construct a pyramid of biomass of grassland ecosystem. How 1s the
pyramid of biomass in sea different from it ?

Name the primary producer and primary consumer in sea.

What 1s standing crop ?
OR

What is. _eutrophication ? Enumerate the steps leading to
eutrophication.

How 1s accelerated eutrophication different from eutrophication ?

1
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